ECE 307 — Homwork #3
1/22/20 @ue Thursday, 1/30 by 5 pm)
You can slide the honveork under my door antime Thursday.

1. Shav from the definition that for engy-limited x(t), the autocorrelation
Ru(7) = x(t) * x(-t)k=,, and for paver-limited x(t), the time-aerage autocorrelation can

1
be written afR(r) = Tliqmoo 5T [x(t)* X(—O)])=;-

2. Obtain the spectral density autocorrelation, and signal energy for
X(t) = Asinc 2V(t - ty).

3. Find the autocorrelation, signal emer and enegy spectral density for
x(t) = Ae Pu(t).

4-5. Z&T (Ed. 6): 2.71, 2.73 (same as 2.63, 2.65 in Ed. 5)



